
Correction du devoir : les puissances
[image: image1.png](.fab) A
(u‘bs) A





Exercice 103 page 74

[image: image5.wmf]43

43

1

1

2

3

6

4

5

8

)101010

)101010

10

)10

10

10

)10

10

ax

bx

c

d

-

-

-

--

-

=

=

=

=

Exercice 104 page 74
Exercice 105 page 74
[image: image6.wmf](

)

(

)

549

6

33

4

2

6

7

325

777

2

4

369

3

2

4

2

5

101020

6

8

58

6612

3

2

3

101010

)10

1010

10

10

10

)10

101010

101010

)10

10

101010

10

10

10

10

101010

10

)10

1010

101010

10

10

x

a

b

x

c

x

x

x

x

d

x

x

x

-

-

-

-

-

-

---

-

-

---

-

==

==

===

===


Exercice 106 page 104

[image: image7.wmf]3

3

3

23042,30410

12,30510

12,30310

ax

ax

ax

==

+=

-=


Autres exercices
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